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Mr. Schiansky Pre Calculus
Composition of Functions

h(x) =x? and p(x) = 2x -3
Evaluate:

L. (ho p)(2) = 2. (poh)=3) 3. h(p(-1))
PO=22->  n(3)=(3P p(-)=2(-N-3
P = | h{-2) =4 pl-l=-5
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9. M fx) == x 3 and g{x) = 2x +5, what is the value of {g° ){4)?

/q]m, 3 3 =3NS
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10. If f(x) = x* and g(x) =2x +1, which expression is equivalent to (fo g)(x}?
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11, Iff(x) = 5x* and g(x) = «./Z what is the value of (f o 2)(8)

=396 L=
J8=4 fif(q% =50

12.If £(x)=x* + 4 and g(x)=2x+3, find f{g(~2)).
AN =03 HA=PH
IN=+ =5

13. If f(x) = 3x — 5 and g(x) = x — 9, which expression is equivalent to {f o g)}{(x)?

9(\9 X=q

g =20x=4)-5
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Use the followings graphs to answer the questions that follow:

f(x) g(x) h(x)
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14. hg(-2)) 15. b(g(-4)) 16. (f o fX1)

9= g(-d)=0 £() -0
4= b= £0)=]

17. (f = h)(0) 18. (g2 /)2) 19. g(h(-2))

hiol== f9--3 ()= |
An=3 9-2=>  g(l=-5



